
 

Решение. 

(а) Применим формулы приведения: cos (5𝑥 −
9𝜋

2
) = 𝑐𝑜𝑠 (

𝜋

2
− 5𝑥) = 𝑠𝑖𝑛5𝑥,  sin(3𝑥 + 𝜋) = −𝑠𝑖𝑛3𝑥.  

Уравнение примет вид: 

𝑠𝑖𝑛𝑥 + 𝑠𝑖𝑛5𝑥 = −√3𝑠𝑖𝑛3𝑥 ⇔  2𝑠𝑖𝑛3𝑥𝑐𝑜𝑠2𝑥 + √3𝑠𝑖𝑛3𝑥 = 0 ⇔  𝑠𝑖𝑛3𝑥(2𝑐𝑜𝑠2𝑥 + √3)  ⇔  [
𝑠𝑖𝑛3𝑥 = 0,

2𝑐𝑜𝑠2𝑥 + √3 = 0;
 ⇔   

⇔  [

𝑠𝑖𝑛3𝑥 = 0,

𝑐𝑜𝑠2𝑥 = −
√3

2
;
  ⇔   [

3𝑥 = 𝜋𝑛,   𝑛 ∈ ℤ,

2𝑥 = ±
5𝜋

6
+ 2𝜋𝑘,   𝑘 ∈ ℤ;

   ⇔    [
𝑥 =

𝜋𝑛

3
,   𝑛 ∈ ℤ,

𝑥 = ±
5𝜋

12
+ 𝜋𝑘,   𝑘 ∈ ℤ.

 

 

(б) Отбор корней ∈ [−𝜋; 
𝜋

2
] проведём на тригонометрической окружности: 

       𝑥1 = −𝜋;  𝑥2 = −𝜋 +
𝜋

3
= −

2𝜋

3
;   𝑥3 = −𝜋 +

5𝜋

12
= −

7𝜋

12
; 

       𝑥4 = −
5𝜋

12
;   𝑥5 = −

𝜋

3
;   𝑥6 = 0;  𝑥7 =

𝜋

3
;   𝑥8 =

5𝜋

12
. 

 
                                                                            

                                                                                                                                                     Ответ: (а) 
𝜋𝑛

3
,   𝑛 ∈ ℤ; ±

5𝜋

12
+ 𝜋𝑘,   𝑘 ∈ ℤ. 

                                                                                                (б) −𝜋; −
2𝜋

3
;  −

7𝜋

12
;  −

5𝜋

12
;  −

𝜋

3
; 0; 

𝜋

3
;  

5𝜋

12
.   

 
 


